| 92441 |m | 72038 s [ 52351 ot [ 31204 fu | 2 |

XVZ = |XY| + I¥Z

ABCD - 180 Ixm‘
A |ABCE - 170 km |
.

e

.

FBA - 110 km
FBC - 90 km

x<500 = max(x)=?

|DCE - 150 km




(m.A,7r9.¢,00,0,(,0)={0,123456,7879)
0#0

mAYe$ >98340
080 CO 12567

2ee00







U000

. — . —Door|— P
87386137 11101100 .

71002531 11101110
67965277 |= [11101100 |
'6A701B98 |= |10111011 |
89124821 > 11111000

A+B=7?

18D 7D21H32P 30 =
0P3P7PIBP32P 18 =
0B 100BI5B6HIB11 =
2820138219 10H 71

88P8P23P50P 27 P67




IR JRTAE 3010

— 933
— 1647
— 1032

?

315|242

123 | 235 | 497

381 412

871













[ABCCDEFGEHIIUKLMNOOPRSSTULVYZ)
1 2 3 4 5

(] ABCD EFGH UKL MNOP | QRST
FUTBOL -~ GOZFUS; |

OZLEM -~ OCPOS;
PAPATYA ~ RUSOCFE; AGRD=100 amMGI=146 EKTC=121
KRONOMETRE = i

0JBS=?
L
L
®c

25, 48)
10, 98)
69, 34)
78, 82)




D3G2D1G1-=5
D5B2-3

D3K3B3G3-0
D14K9D5B13G1 =7




a,b,c € N

x = 100a + 10b + ¢ = a+2b-5¢c=?




®
e

L
o

A
ou

JET -0

[ = ALCO N7\
-ib-gsyacf;,l‘u ' |



by i 15 el 4










(16,4)10°% + (0,36)10 %
-
(0,0008) (0,064) 3

=?

x,y €L,

xV3+yV3—-9=4x—-5y+36

> Xx—-y=?




nefd, n=6

(n=5N+(n-6) 1

(n=3=-(n-4) 6

=>4n—3 =7

fiR-R,
f(x)=-x*+12x+6k + 3,

|IBC| = 3|0A] = k=7




f:R- R,
f(x?+3x —4) = 2x* + 6x
R f:R =R,
=5 f~1(5) =? R f(x) =x* s |12x + 2| — 6
flx1) =f(x) =0

= Xy + X9 =7

f:R—1{0,2} = R,

f(x) :'_ = f(x+2)=7?
xX=2

4f(x)+6
f(x)

& 6f(x)—9
f(x)




P ve K birer polinomdur. ( P and K are polynomials.)

P(x) [ x? + 4x P(x) | x2 +4

ABCE
A =E-A
B'=E-B

n(E) =50
n(A'nB') =7
3n(lA-B)=5n(B—-A)

j- = min [n(A4)] =?

= n(A n B) =7 (n: Element number of the set)

(n: Element number of the set )




[:R= R, a,b €7,

f(x)=x—4x+5,

, . ab — 4a + 3b = 42
A=[-2 5) = f(A) =7

= max(a) =?

4 sin*x + 5sin2x — 6cos‘x = =2

tanx =?




_1j

= 4(cos160’ + isin160")
2(cos40" + isin40")

= |24 — 25| =2

J

w
-

- )
v ]
K «

~J| d

9]
=,
~J

g |

3y

Y/|m=12..:a, 0,

lima,=LER

71— 0O

2a,a3, — 2 = —3ay,

y =yXx),

. , ; L .
Xy +1+,/Jy+xy—-1=2 = a(,ﬂ) =?

1 2 3

7

+ + - 2
loge 72 log; 27 log, 72




4
VCOS X — COS X

x—0 sin*x

ABCD kare (square) f.9:R-R,

[BE] n [AF] = {K} nad ,
] ) ) f (2x) = g(3x) 3
3|ED| = |AD| = 2|DF| o= . f(0)=0 f g(5x)dx =7
f(10) =2 0

tanx =7




sin®x cos’x dx =?

[{R— R

I
7~ arccol x

ax + .'t'],

bx®+x+c,

f(x) =

f'()=7 =a+b+c="?




ABCDEFGH kup (cube)

IFLI = |LGI IKL| =7 br
2|AK| = [KD| = 4 br |

8 ,
"
/-\‘z

ABCD paralelkenar (parallelogram)
ABCD yamuk (trapezoid)

[FE] L [AB]
[EB] n [AC] = [F) |EF| = 4 br
|AE| = |ED| AE| =5 br
A(AEF) = 4 br’ |EB| = 11 br
A(BFC) = 10 br*

|AD| = ?br

A(ABCD) = ? br* (Find the area of ABCD)




A
A C
-
) B\’ X
k

AOBC dikdortgen (rectangle)
k bir dogru (line)

Dik koordinat sisteminde E(0,3), D(4,2)

(in perpendicular coordinate system); [AD l 1 I”[”

ABC Uggen (triangle)
[BA] 1 [AC]
AE| = |AC|

Tarah alan nedir? (Find the signed area.)

(7.7

14

ABCD dikdartgen (rectangle)

[AB)//IDC
ABI/NDC] BECF kare (square)

IBC| =7 br |AE| = 10 br

IBD| = 8 br .
|AB| = 4 br : ID( 14 hr} min|BC| =7br

|AD| = 6 br
|DC| = 16 br




m(DFE) = 24
[CD] 1 [AB]
[BE] 1 [AC]

www.atharan.com



